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Matrices And Operations Very Short Answer Type Questions

1. Define a diagonal matrix.

Watch Video Solution

2. Construct a  matrix  whose elements are given

by .

2 × 2 A = ∣∣aij∣∣

aij = 2i + j

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DJwY591usmVD
https://dl.doubtnut.com/l/_MAIWsM1AzI4z


Watch Video Solution

3. Construct a  matrix A =  where  .

Watch Video Solution

2 × 2 [aij] aij =
i − j

2

4. Construct a matrix , whose elements are given

by .

Watch Video Solution

2 × 3 A = [aij]

aij = |2i − 3j|
1

2

5. Define a scalar matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_MAIWsM1AzI4z
https://dl.doubtnut.com/l/_GqctNMwuVcA8
https://dl.doubtnut.com/l/_2gFfvWJkTqii
https://dl.doubtnut.com/l/_IMWR68BBtuYG


6. Construct  matrix whose elements are given by : 

Watch Video Solution

3 × 3

aij = i − j

7. What is the number of the possible square matrices for order 3

with each entry 0 or 1.

Watch Video Solution

8. A =  Find A+A'.

Watch Video Solution

[
4 3

2 1
]

9. If 
, write the value of 
.[xy4z + 6x + y] = [8w06] (x + y + z)

https://dl.doubtnut.com/l/_q6z1ZZ4pRsvQ
https://dl.doubtnut.com/l/_k4f5HmQ9kMXx
https://dl.doubtnut.com/l/_RKqKSLNFC9Uf
https://dl.doubtnut.com/l/_skNAwiOBlwDy


Watch Video Solution

10. The elements 
 of a 
 matrix are given by 


Write the value of element 

Watch Video Solution

aij 3 × 3

aij = | − 3i + j|.
1

2
a32

11. If 
, find the positive value of 

Watch Video Solution

(2x4)(x − 8) = 0 x

12. If 
 , write the value of 


.

Watch Video Solution

[a + 43b8 − 6] = [2a + 2b + 28a − 8b]

a − 2b

https://dl.doubtnut.com/l/_skNAwiOBlwDy
https://dl.doubtnut.com/l/_yDVPaINKOUKH
https://dl.doubtnut.com/l/_Q6CSZZVJIpNn
https://dl.doubtnut.com/l/_UnYG1jgGRryb
https://dl.doubtnut.com/l/_k0XdYnGRRJh2


13. If  then

Watch Video Solution

2[
3 4

5 x
] + [

1 y

0 1
] = [

7 0

10 5
]

14. Solve the following matrix equation for

Watch Video Solution

x : , [x1][10 − 20] − O.

15. If 
is a square matrix such that 
, then write the value

of 
where 
is the identity matrix.

Watch Video Solution

A A2 = A

7A − (I + A)3, I

16. If  Then find the value of 

Watch Video Solution

[
x − y z

2x − y w
] = [

−1 4

0 5
] x + y

https://dl.doubtnut.com/l/_k0XdYnGRRJh2
https://dl.doubtnut.com/l/_5TKfdskN9RFw
https://dl.doubtnut.com/l/_16YkKoYJ7BeO
https://dl.doubtnut.com/l/_gHqK4H1KfZJG


Watch Video Solution

17. Find the values of x and y, if 

Watch Video Solution

2[
1 3

0 x
] + [

y 0

1 2
] = [

5 6

1 8
].

18. If  then write the value of 

.

Watch Video Solution

[
x − y  2y

2y + z x + y
] = [

1 4

9 5
]

(x + y + z)

19. Find the value of 
if 

Watch Video Solution

a [a − b2a + c2a − b3c + d] = [ − 15013]

https://dl.doubtnut.com/l/_gHqK4H1KfZJG
https://dl.doubtnut.com/l/_HOIKGGo2A0OD
https://dl.doubtnut.com/l/_x8VAzGTCouJM
https://dl.doubtnut.com/l/_s4hBDR47z6Cg


20. If 
then find the matrix 

Watch Video Solution

[9 − 14 − 213] = A + [12 − 1049], A.

21. If 
write the value of 

Watch Video Solution

[2357] [1 − 3 − 24] = [ − 46 − 9x], x

22. Simplify: 

Watch Video Solution

cos θ[
cos θ sin θ

−sin θ cos θ
] + sin θ[

sin θ −cos θ

cos θ sin θ
]

23. Find the value of  from the following equation: x + y

2[
x 5

7y −3
] + [

3 −4

1 2
] = [

7 6

15 −4
]

https://dl.doubtnut.com/l/_CZJol0PdT8iT
https://dl.doubtnut.com/l/_Ul8pWbWH4YMX
https://dl.doubtnut.com/l/_9a9R1W9L3tw1
https://dl.doubtnut.com/l/_BntQFxjwysJ1


Watch Video Solution

24. then verify

that 

Watch Video Solution

if A' =
⎡
⎢
⎣

3 4

−1 2

0 1

⎤
⎥
⎦

and B = [
−1 2 1

1 2 3
],

(i)(A + B)' = A' + B' (ii)(AB)' = A − B'

25. If 
 is the identity matrix
 and 
 is a square matrix such
 that 


, then what is the value of 
?

Watch Video Solution

I A

A2 = A (I + A)2 − 3A

26. find the values of X x and y.

Watch Video Solution

if x[
2

3
] + Y [

−1

1
] = [

10

5
],

https://dl.doubtnut.com/l/_BntQFxjwysJ1
https://dl.doubtnut.com/l/_9TASRKKFUhBA
https://dl.doubtnut.com/l/_kS1eaGk1RN54
https://dl.doubtnut.com/l/_ab57uSsPSOvG


27. If  write the value of y.

Watch Video Solution

[
x x − y

2x + y 7
] = [

3 1

8 7
]

28. For a 
 matrix 
 whose elements are
 given by 


, write the value of 
.

Watch Video Solution

2 × 2 A = [aij]

aij =
i

j
a12

29. If a matrix has 5
elements, write all possible orders it can have.

Watch Video Solution

https://dl.doubtnut.com/l/_ab57uSsPSOvG
https://dl.doubtnut.com/l/_Uxb2Ya0NOU1r
https://dl.doubtnut.com/l/_0KnMgln4bqsq
https://dl.doubtnut.com/l/_hDyjbDGRCdip


Matrices And Operations Short Answer Type Question I

30. Write the values of 
 from the following equation:

Watch Video Solution

x − y + z

[x + y + zx + zy + z] = [957]

31. Write the order of the product matrix :


Watch Video Solution

[123] [2 3 4]

1. If matrix 
and 
then write the value

of 

Watch Video Solution

A = [1 − 1 − 11] A2 = kA,

k.

https://dl.doubtnut.com/l/_xHnAI5PxMobU
https://dl.doubtnut.com/l/_xPbP4TI9SKFq
https://dl.doubtnut.com/l/_1SM0xZ1LIZbF


Matrices And Operations Short Answer Type Question Ii

1. Find the values of x,y and z in the following matrixies : 

.

Watch Video Solution

[
x + y 2

5 + z xy
] = [

5 2

5 8
]

2. Find the value of x and y in 

where 0 is a null matrix.

Watch Video Solution

[
x + 2y 2

4 x + y
] − [

3 2

4 1
] = 0

3. Find the value of x and y : 

Watch Video Solution

[
x + y 3

x − y −6
] = [

2 3

4 −6
]

https://dl.doubtnut.com/l/_Mzmc18EdUR43
https://dl.doubtnut.com/l/_7FVjKVwuGaDJ
https://dl.doubtnut.com/l/_QDQeVMyMlVFF
https://dl.doubtnut.com/l/_R4p8rCg3vSeQ


Matrices And Operations Long Answer Type Questions Ii

4. If A=  then find the value of  +2I.

Watch Video Solution

⎛
⎜
⎝

2 0 1

2 1 3

1 −1 0

⎞
⎟
⎠

A2 − 3A

5. For the following matrices A and B, verify that (AB)'=B'A'.

 and 

Watch Video Solution

A =
⎡
⎢
⎣

1

−4

3

⎤
⎥
⎦

B = [ −1 2 1 ]

1. If A= and C = 

 then find A(BC) and (AB) C. Show that A(BC) =

(AB) C.

⎡
⎢
⎣

1 1 −1

2 0 2

3 −1 2

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 3

0 2

−1 4

⎤
⎥
⎦

[
1 2 3 −4

2 0 −2 1
]

https://dl.doubtnut.com/l/_R4p8rCg3vSeQ
https://dl.doubtnut.com/l/_bU6bibKrHfvM
https://dl.doubtnut.com/l/_5cEtjM5gkh0v


Watch Video Solution

2. If

 


Calculate AC, BC and (A+B)C. Also verify that (A+B)C=AC+BC.

Watch Video Solution

A =
⎡
⎢
⎣

0 6 7

−6 0 8

7 −8 0

⎤
⎥
⎦

, B =
⎡
⎢
⎣

0 1 1

1 0 2

1 2 0

⎤
⎥
⎦

and C =
⎡
⎢
⎣

2

−2

3

⎤
⎥
⎦

3. If , verify 

where 0 is zero matrix of order .

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

0 −3 0

0 0 4

⎤
⎥
⎦

A3 − 3A2 − 10A + 24I = 0

3 × 3

https://dl.doubtnut.com/l/_5cEtjM5gkh0v
https://dl.doubtnut.com/l/_QQm1O2Ug18i7
https://dl.doubtnut.com/l/_FGdTcQD9nkKg


4. Verify (B+C) A =BA +CA if A =  ,B=  and C = 

 .

Watch Video Solution

[
2 3

4 −5
] [

3 8

11 21
]

[
7 13

5 19
]

5. यदि

, तो A (BC) तथा (AB) C ज्ञात कीजिए और दिखलाइए कि (AB) C=A (BC) है।

Watch Video Solution

A =
⎡
⎢
⎣

1 1 −1

2 0 3

3 −1 1

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 3

0 2

−1 4

⎤
⎥
⎦

 तथा C = [
1 2 3 −4

2 0 −2 1
]

6. If 
, then show that 
.

Watch Video Solution

A = [1233 − 21421] A3 − 23A − 401 = 0

https://dl.doubtnut.com/l/_TZBOlCjPTAnV
https://dl.doubtnut.com/l/_5S12oSDM7ByT
https://dl.doubtnut.com/l/_tFRMw6wdDhvn


Symmetric And Skew Symmetric Matrices Very Short Answer Type

Questions I

1. If A and B are two skew symmetric matrices of same order then

AB is symmetric matrix if __________

Watch Video Solution

2. If the matrix  is symmetric then find the value

of x and y.

Watch Video Solution

[
5 − x 2y − 8

2 3
]

3. Write a 
 matrix which is both
 symmetric and skew-

symmetric.

Watch Video Solution

2 × 2

https://dl.doubtnut.com/l/_zpaptTpeg5Nr
https://dl.doubtnut.com/l/_KvcjkopdZuDY
https://dl.doubtnut.com/l/_FCIwS8yNkfhc


Symmetric And Skew Symmetric Matrices Short Answer Type

Questions Ii

4. For what value of k the matrix 

 is a skew symmetric matrix ?

Watch Video Solution

⎡
⎢
⎣

2k + 3 4 5

−4 0 −6

−5 6 −2k − 3

⎤
⎥
⎦

5. For what value of x, is the matrix 

 a skew-symmetric matrix

Watch Video Solution

A =
⎡
⎢
⎣

0 1 −2

−1 x −3

2 3 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_FCIwS8yNkfhc
https://dl.doubtnut.com/l/_NYMkpmbId1yz
https://dl.doubtnut.com/l/_feVUQa1i6mKu


1. Express the following matrix as the sum of a symmetric and a

skew symmetric matrix and verify your result : .

Watch Video Solution

⎡
⎢
⎣

3 −2 −4

3 −2 −5

−1 1 2

⎤
⎥
⎦

2. Express matrix A=  


as the sum a symmetric and skew symmetric matrix.

Watch Video Solution

[
1 2

2 −1
]

3. Express the matrix  as the sum of a symmetric

and a skew-symmetric matrix.

Watch Video Solution

⎡
⎢
⎣

2 3 1

1 −1 2

4 1 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_t3A5aPSLUHnD
https://dl.doubtnut.com/l/_6xj6wpcYujcf
https://dl.doubtnut.com/l/_wMUDI431MdlS
https://dl.doubtnut.com/l/_k7koNYQ474v3


Elementary Operations Or Transformation Of A Matrix Short Answer

Type Questions Ii

4. For any square matrix A with real numbers, prove that 

is a symmetric and  is a skew symmetric.

Watch Video Solution

A + A'

A − A'

1. Using elementary transformations, find the inverse of the

matrix

Watch Video Solution

[1327]

2. If  then  is equal to

Watch Video Solution

A = [
1 2

3 4
] A− 1

https://dl.doubtnut.com/l/_k7koNYQ474v3
https://dl.doubtnut.com/l/_JDRX7dGMp7Z4
https://dl.doubtnut.com/l/_sRokFGD9FvqW


3. If A; B are invertible matrices of the same order; then show that

Watch Video Solution

(AB) − 1 = B− 1A− 1

4. By using the elementary transformation, find the inverse of the

matrix, .

Watch Video Solution

A = [
1 2

2 −1
]

5. Using elementary row
 operations, find the inverse of the

following matrix: 

Watch Video Solution

(2513)

https://dl.doubtnut.com/l/_mtZsObUNVYmQ
https://dl.doubtnut.com/l/_U54BYoiHNuLa
https://dl.doubtnut.com/l/_gwSUdXYBIZS4


Elementary Operations Or Transformation Of A Matrix Long Answer

Type Questions Ii

6. Find the inverse of 
 using
 elementary

transformations.

Watch Video Solution

A = (3 − 1 − 41)

7. Find the inverse of the following matrix using elementary

transformations A=  .

Watch Video Solution

[
3 2

7 5
]

1. 

Watch Video Solution

⎡
⎢
⎣

−1 1 2

1 2 3

3 1 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_2whiOuX2tFdt
https://dl.doubtnut.com/l/_R1BbZ7zkv5Pr
https://dl.doubtnut.com/l/_WMrgMLqFut37


2. Using elementary
 transformations, find the inverse of the

matrix :


Watch Video Solution

(20 − 1510013)

3. Using
 elementary transformations, find the inverse of the

matrix


Watch Video Solution

(13 − 2 − 30 − 1210)

https://dl.doubtnut.com/l/_WMrgMLqFut37
https://dl.doubtnut.com/l/_aXyogPdrEo2O
https://dl.doubtnut.com/l/_XrhC1LcDz4cR

